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Model Question Paper-3
;smﬁagmﬁ Tew3snsd / Instructions to students:

L &3, W8 B Tone VORT 0D FeRodd_ors.

2 IBe3 Toegod TP, ©I 100 wo3H wEd ol SHTODIWIE.

3. 100 wo3dd 100 JFnen «BdI <o 120 AR ADodHTed QIT.

4 T PR A B C D acw 4 S0Hod HITYR, JES NNIE. aYnYY FOCIED $u8TE

20TE FIERL, [, w.R0.5TFY VO ST YY), W' ToWoEF I 0T Jer' SRRITD.

Each question has 4 options, namely A, B, C, D. Out of these shade only one circle as answer in
the OMR with blue or black ball point pen only.

5. 2.20.80°3Q WIOHT AFeNE B[REOOID, YmeEHTTEEN B §¥FoRod de@d. Example is
given to shade the correct method in OMR.

0 SR Correct Method 3, ST/ Wrong Method
TXO. /Q.No. SVIT/ Answer T.XC./Q.No. VBT / Answer
L @DE@® L ORO®

2 PEO® 2 Slelo)

3 @QE®O® 3 E@ROD

4 QOB + 0O

6. 2,000 TIR 20WYoZ 3D, SOHNRID, Berw® ez, Must not shade more than one option

for one question.
7 22080°T¢ CipIBe W, FTANGD, DRERITD T TOOHTECS, DBWHCI W=NE

R[RHYTR Do not erase or rub in the OMR and do not fold or tear the OMR.
8. 2.20.80°TY TCWORAT WreddNY, gt 8 seywd. Fill up the OMR with related

information without fail.
9.37) woIoNer WERIF VOINPHPYRY, STOOT HepIFRAYRe wuedr.. There is No Negative

marks for incorrect answers. So attempt all the questions.
lO.&)m‘adtbrmfo, ‘T B TWOeB-2020'C 0BT HVITH VoD aﬂ@o:bzs% BERTD,

Memsmﬂagj&mgdeﬁa.keep copy of OMR answer sheet safely.
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7. womh Terer $ohokon IRBE RIRY
[OBeFT SedS WX,

A 00T

B. &gravose

C. TWFFS

D. @rerer oo

8. xarymh wydecd W I

10. ‘SecsTT’ 20w BID BRODTIIT::
A. 33
B. moje
C. Scn
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11. honsd 35% 3003. - 335 WD TOOIPT T
A NO ®roy 80T
B. N¢ mead, 20T
C. Nonish B 3003.
D. Aensd @Y, 303,
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13. ‘IR IBTQELT e
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19. uodolke hah,; ModsexIe IR
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D. o3PS
20. Tozkb TSR Bz,
8 MIAE ORNT 295 JITF AT WO
A T3S T

B. 3 %o
C. Zean o
ENGLISH
21.Shruthi’s nephew and came home for summer holidays.

Choose the other gender form of the underlined word from the given words.

A. Brother B.Niece C.Sister D Father
22.We had a food yesterday.

Choose the suitable adjective and fill in the blanks.
A Old B.Happy C.Delicious D.Sunny

23.All the community members participated in the programme.

The plural form of the underlined word is
A. Communitys B.Communities C.Communitios D.Communitis

24.Dr. Abdul Kalam (to be) the president of India.

Fill in the blanks with correct form of verb.
A Is B.Has C.Have D.Was

25 =T

The above set of letters can be rearranged to get a meaningful word.

A. Thous B.Shout C.Houst D.Suoht
26.My father’s brother is my

Choose the suitable relationship
A. Grand father B.Uncle C.Brother D.Nephew

27.Deepak_quit his job.

The opposite of the underlined word is
A. Stop B.Fast C.Start D .Complete

28.1 am delighted with his work.

The correct meaning of the underlined word is
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A. Happy B.Unhappy C.Angry D.Surprised
29.They go to market daily.

The past tense form of the underlined word is
A. Goes B.Went C.Gone D.Got

30.We cannot do that work immediately.

The short form of the underlined word is
A. Conn’t B.Can’t C.Cann’t D.Cono’t

31.A mouse ran to the wall and hid the table.

Fill in the blanks with appropriate preposition
A. On B.With C.For D.Under

32.The/very/he/ was/kind/to/poor

The correct arranged statement is
A. Poor was he very to the kind
B. He poor was very to the kind
C. He was very kind to the poor
D. He was very poor to the kind

33.Karthik is ~__in the field.

Fill in the blanks with __ing form of the verb given below.
A. Running B.Runing C.Ranning D.Raning

34l. They saw two bulls running towards each other.

Il. The two immediately ran and pulled the child away.
Il. Once two children were sitting in a car.

IV. At the same time a child was lying in the bulls’ path.
Arrange the above sentences in a meaningful order.

a) 1 | v 1

[ — | VRS [ B— [
D QI N [ E— W,
) [ —"Y I I

35.Identify the correct spelling of the following.
A. Tommoro B.Tomorow C.Tomorrow D.Tommorrow
36.A place where wild animals live

A. Desert B.Ocean C.Forest D.Town




37.Swami Vivekananda gave his religious speechin
A. Washington B.New York. C.Chicago D.Delhi
38.Cow gives us
A. Grass B.Milk C.Crops D.Water
39.What colour is the elephant ___
A Gray B.Green CRed D.Yellow

40.0bserve the picture and identify the musical instrument.

A. Tabala B.Veena C.Harmonium D.Violin
Social science
41, TTFLTTY THTPPT[OLTN TOOINT TIND IO -
A Tz B. Zooxms
C. e8¢0 D. Som-gw,

An important West- Flowing river of Karnataka is :
A. Ghataprabha B. Sharavathi

C. Kaveri D. Tunga-Bhadra

42,930 8330 33503 acfpmd 58T :

A. 2080 BN B. &vxghnod
C. S0goiano D. 3p%E0,
The highest peak in Karnataka is :

A. Bababudangiri B. Madhugiri

C. Mullayyanagiri D. Kodachadri
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43.5003BI, YUBT W T LONRTIBA QONBRT Tl &95‘305 :
A. 8TFWT BOTOES [F B. &30 mozw0d FZ
C. oFres &3 D. wowmurs I3
The latitude that divides India into South and North is:
A. Tropic of Cancer B. Tropic of Capricorn
C. Arctic Circle D. Antarctic Circle
44,5008 &3 ew0TOBRY, PeTERRT RWOTOY
A. Bedor® ROTOY B. Imo=w %050
C. T35 %OROH D. nwpeot mexod
The Strait which separates India and Sri Lanka is :

A. Bering Strait B. Panama Strait

C. PalLk Strait D. Gibraltar Strait
45.;1)6mm D) WTTIRINT BYNYY FOBWAT LWOBTLY), B30T :

A Bredn B. Boik
C. snoon D. Sxoz

The Tribal Community found in the districts of Mysuru and Chamarajanagara is :
A. Soliga B. Chenchu

C. Koraga D. Munda

46. 300 ca&éd TOBTOR ¢
A oToz=e B. &ogono*®
G o‘édz:itmmcs‘ D. Qzodhzmes

The capital city of Telangana state is :
A. Amaravathi B. Warangal
C. Hyderabad D. Vijayawada

47. S, caai BREQLST DY WD B0

A Tpé B. =n
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C. zsdodas-' D. zo0é

The White colour in our National Flag indicates:

A. Progress B. Sacrifice

C. Courage D. Peace

48. IJFLITT éwghw:

A. 3T=90 B. 3% Stondedt

C. 35 Bz D. Bondneh

The Gateway of Karnataka is :

A. Karawar B. New Mangaluru

C. New Delhi D. BengalurU

49. TTWOWE FERTEY DO FEONYB®D TAHER |

A w3l @%m&: B. @T3nRkeedon wﬁ;mm

C. 3puTRER TRHAM D. s TFFAD

The plateau which known as ‘Roof of the World' is:

A. Tibet plateau B. Patagonia plateau

C. Colorado plateau D. Mexican plateau

50. Ja, TeBT JATG, s ST :
B. gsoos® a;% o
G DIFS II0T* D. medz* éocﬁch‘

The famous Hockey player of our country is :

A. Prakash Padukone B. Dhanraj Pillai

C. Vishwanathan Anand D. Sachin Tendulkar

51. INEBOFCONT n‘ow’mao :

A. Qed

C. escjsaé D. sdgex
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Non-Renewable Resource is:

A. Water B. Soil
C. Forest D. Coal
52. SR TE T aoa_vﬂ WOTR BH HLRINT0T Ib:‘;;‘a*jdau:a e zp?,ﬂ'as'cd:a .............. NOTR
F303NIT.
A. TosEOD Qsem' B. geai
C Prsod D. zoxod

A piece of land is surrounded by water on three sides and land on one side is

called.........uens
A. Peninsula B. Island
C. Isthmus D. Strai

53. 300nY 303 BIT m;od emdraém :

A. LA B. 309 mozocdd
C. a%&mb% D. &0eomodd

The main occupation of people of Coastline is :

A. Agriculture B. Poultry

C. Dairying D. Fishing
54. tRUST SN COHYTS :

A. TODTG® BRCDOT® B. S3cow, Bwed

C. Bogoz, Dwody D. Jeoes® SxDwE

The present President of India is :
A. Ramanath Kovind B. Narendra Modi
C. Venkayya Naidu D. Pranabh Mukharjee

55. 3PNIZYNLY ooy)cd Ua%eow mi)wg :
A. ﬁmcadraéegas os B. mode monoed

C. myEog,; OF D. 33&@ Toxne3n O
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__Which of the following is not a National Festival?
A. Republic Day B. Gandhi Jayanthi
C. Independence Day D. Kannada Rajyotsava

56. oUW Todeod TP :

A ne B. 3nend
C. JSaen D. s0=e¢
India’s National Bird is :

A. Parrot B. Cuckoo
C. Peacock D. Pigeon

57. SFONQ ROTHEON), BRCOMT WY :

A. B3 B. dcd
C. 390 D. sos®

The colour that indicates the water bodies on the Map is :

A. Black B. Blue
C. Yellow D. Red
58. FRFUWER [LTY TEEINSH ¢
A TRy B. riont C.
U B D. szow

The first dynasty of Karnataka is :
A. lloysala B. Ganga

C. Rashtrakuta D. Kadamba

59. oTREQWE OF TG TWIT :
A. 50 BneEd B. 2000%¢ @dso
C. 38 NDO* D. Jouzhmde*

The world famous monument in Agra is :
A. Red Fort B. Buland Darwaja

C. Taj Mahal D. Pancha Mahal
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60. :5&':3 m@ﬁeéc& Te3ToBo0Te ¢

A wotHwor W¥e3se
C Beaxn we

B. Som [w® eneot
D. @0z

The composer of our National Anthem is:

A. Bankim Chandra Chattarjee

C. Mohammad Igbal

ENVIRONMENT SCIENCE

B. Rabindranath Tagore

D. Kuvempu

s1LEud  ByEod 2B3H, Swaben 2¥TE evEESD !

A. k;éraex}f%ew

C. a2

A Tool used by Doctors to know the heart beat :

A. Stethoscope

C.ECG

B. Spigmomanometer

D. Seismograph

62.7€d8000T, T, FOBD SHLATIT 0 :

A nmo do°
C. Iogweerd

Who invented the computer :
A. Graham bell

C. Marconi

63.%‘571% QWT ROT emxpcacsx_«spd :
A. wowneon

C. 2ezndos

B. 8o° iperdds

D. woofs s
~N 2

B. Right brothers

D. Charles Babbage

B. T3, Sogneos

D. men9ow

The latitude that divides India as South and North India is:

A. Roots

C. Seeds

B. Stomata

D. Flower
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64.88 34307 FOTHFTY THT WHWT A2

T, VY TRABR  : GIV = :)ao%::oricgcmaiaa1 DY TORTOMN:—

A TI B. &
C. @ D. wm;‘o"e

The changed state of matter in the following situation :
Water on heating: gas:: Ice cubes on heating: __

A. Solid B. Liquid

C. Gas D. Plasma
65. & BIRINT 33

A 3Tmow B. ¥ @0dne®mo

C. ©%3 3i3 D. =3 w500
The game \ sport in this picture is :

A. River rafting B. Mountaineering

C. Sky diving D. Mountain biking

66. Wy, VUMWY BN ME B IAEAPY SSe ow IR, WRDE, Tne
ROTCIRORTL OO AR BARIOWNT TROTE, &rid 3T

A ™R0eED ABNTOL B. 315 Amnmeod

C. 20TFR FINTOR D. 30039 ZmNTOX

&

Families living in dense forest areas and hilly areas their own language , dress code and
custom are called :

A. rural community B. urban community
C. tribal community D. coastal community

67. & FINIRYNYY IVCBOIORNT FOTSHY :
A, a0 B. Qg
C. & D. e

e

The following is a non renewable resource :

A. air B. coal
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C. forest D. soil

68. VCOTVOTOWE HToT :
A. feom B. m9®0d
C. AReoSHNT® D. ®ossoox

The food which has more water content is:
A. ground nut B. black eyed beans
C. soya bean D. pumpkin

69 WONFYOT DT, WHRLOBE :
A M B. 8
C. =% D. A

What does magnetic contains is :
A. glass B. iron

C. wood D. plastic

70. SReOTE BO[0N 83 BOIR LTIBTHBOSIONG.

A. g0 Bod B. sordneos Bod
C. F@eod BWoF D. @3 @B

The motion of pendulum is an example of famous Hockey player of our country is:

A. rotatary motion B. oscillatory motion C. circular
motion D. curvilinear motion

71.9RIROTE BF, IT, WrEIIeR BT
T TY, HONED WR0EeHI! S
TOMOTT BeANY B8 MLOBR, FOW BEAYRZeS
AZRRRTSR Hadodh Bu3od
Cerorioae 3 D.xozedme38

I am a plant, don’t touch me,

if you touch me, I will fold my leaves,

which Characteristics of living beings do I represent
A. Response to stimulus B. Movement
C. Respiration D. Reproduction
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72. QLN ‘R’ 3RTIN0T TOLTIMS SORACD 000
A QTeso TR B. o3
C.e30230 D. 'Alébi—‘
The disease caused due to Vitamin' D’
A. Night blindness B. Rickets

C. Beri Beri D. Scurvy

73. TNA, ¥, By B0eRS , 30 — YPNTY MHowR BT e

A i’ B. 3%
C. ffmm Mzsgeﬁ D. 8ego

Dice, chess, hide and seek, carom -the game that does not belong to the group
A. Dice B. Chess
C. Hide and seek D. Carom

74. ©BTYIY FONB@OT JeT: B3 BIONR), BLOOTIT

A TS, B3 B. ) 3§
Cuos =8 D. HE03T B
The energy present in water stored in a Damis _
A. Potential energy B. Kinetic energy
C. Heat energy. D. Displacement energy

75. TPRIT BRF N oI

A. ony B. g
C. D D. 32
Which is the largest planet in the Solar System

A. Mars B. Earth

C. Jupiter D. Saturn

76. 2D c;oa%ﬁgl TR

Adnedg B.3eorw C.2nnd D. o¢b
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Example for Millet is
B. Groundnut

A. Jowar
C. Pigeon pea D. sesame
77 =o0dnmRITE =0a), T30
ABIBEAD B.abadne C.zmonee D.5ossoe Snsd

Major reason for air pollution is

A. Buildings B. Houses

C. Forest D. Factories

78.30030DTY, ©Z0T TwPNNT WAL

A 3Epems B. sgzmar C. oowea® & o8 D.%® @do

The most abundant gas in the earth atmosphere is

A. Nitrogen B. Oxygen
C. Carbon dioxide D. Inert gas
79, DOVOAT GIRD DH) ByBERIT® NY OLIDE :
A 1:2 B.2:1
Co208 D.3:2

Water contains oxygen and hydrogen in the ratio of:
A1:2 B.2:1

C.2:3 D.3:2

80. a:ioejagdeg 3 35 zsfo&odw TN -TNY Jow oy [RUVITT g 255340;:: TRWBE D

B.zact—-a30n
D. 300 —&0zn

A3oTB—a0rsd
C.308—z00%

In a family tree the symbol S represents mother and daughter relationship, then this

symbol g represents

A. Father -daughter B. Mother -son

C. Father - mother D. Mother - elder son
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SCIENCE

I) Choose the correct option
39R DeRT ITNPY FOOIRE YUSTRD, SO L3O

81) The molecules are freely arranged in
a) Solid b) Liquid ¢) Gas d) None of theses

39NS CIRFWOY GeOned FFOFTN VORI

) TS ) TN 3) & ®) 03RD ¥Y
82) Carbon Dioxide is an example for

a) Compound b) Element  ¢) Mixture d) None of theses

QOMOY G& c-sﬁesa‘ 3 NI om@zsg SVTIVBTFBOITVNT.

) ROCINT K 2)) o 3) WTFe B®) 03RYHT &Y
83) Which is biggest planet in Solar System
a) Venus b) Jupiter  ¢) Mercury d) Earth

APTDOBOT $Z08 BB, 1T

©) 3B, ) MO ) AN B) PR
84) Percentage of Nitrogen in air is

a) 21% b) 0.03% ¢} 78% d) 100%

MPONYI FWTARITE T [3a0 W7

®) 21% 2)) 0.03% %) 78% @) 100%
85) The example of Non-renewable source of energy is y

a) Air b) Forest  c) Petrol d) Water

VR THG JDET OIUT n’oz:jarag)i f YVTOBOH
©) ™Y 2) @Usaé §) StdpeeT @) Aedd
86) Which of the following can cause acid rain?
a)CO, b)CO ¢) SO, d) CH,
AT OIMRE Y R 00
©)C0,2)CO 5)S0, @) CH,

87) Which is the lightest element?
a) Hydrogen b) Oxygen ¢) Nitrogen  d) none of these

©8 TOTDT BROTARY, OIVHT?
09) RORIT Q) SWMRIT ) AT @) IR ©Y

88) Disease caused by deficiency of lodine
a) Night Blindness b) Goitre c) Anemia d) Beri-beri

S03RARTT FRTIN0T O30T TS wdo:jd.
&) QWY DT &) nenod %) 0% oeI3 ®) 50-250

89) Chemical name of common salt is
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a) Sodium Carbonate b) Sodium Bicarbonate

¢) Sodium Chloride d) Sodium Phosphate

RN YT TOTOONIE T 0IWR)TO?
) JRCBONO ToLdPeF JeLF ) RREROPO & ToLier Feed’
B) AReRODO BRSE’ ®) RSO0 m:o;ew

90) Name the acid present in Lemon
a) oxalic acid b) Citric acid c¢) Tartaric acidd) Ascorbic acid

dolmeds ©a; oI
¥) oRdT gy w) AW’ R W) HP0EP0T G &) IXTNET G

91) Which is the longest bone in human body?
a) Femur b) Stapes ¢) Carpals d) None of these

JRIDS G T @S VT DT e OSRFI?
€9) mr{amf W) ﬁeaj:d %) T, ®) oo ©Q

92) Who invented the cell?
a) Robert Hooke b) Rachel Carson ¢) Leeuwan Hoek

d) None of these
AT DRSNS o Fo LRATZTID?

©) TRWWF IO W) Codee® BTRR ¥) OTT TF B®) O WL

93) S unit of density is -
a) Kg/m® b)kg ¢) m/s d) m/s*

ROTI0DH S0BTT eob £
) 8§23 /a2 £3) 82 3) /% &) Qo/E’

94) How many planets are there in our solar system?
a)7 b) 8 c)9 d)10

TTROBOTY T RIAVN?
&) 7 ) 8 59 ® 10

95) Which part of the plant conducts Photosynthesis?
a) Flower b) Leaf ¢) Root d) Stem

RAT OB gry T, JWOZeTR J0kT XBORITONG,

&) B W) HG8) Bead @) 0B

96) What is the boiling point of water?
a) 25%¢ b)50°¢c ) 75°% d) 100°¢

%o.

REOT RNOCIVH DOTR
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©) 25° 0. w) 50°H  8) 75° %o @) 100° #o

97) Molecular formula of Ozone

a)o, b)O c) 05 d) None of these
L Reds @roRed O
©) 0, ©)O0 %) Os__ B) SR ¥Y

98) When we celebrate world Environmental Day?
a) 5 June b) 5 July c) 5 August  d) 5 May

OB TOXRT OTWTE odemen WBORRMHRYTO?
@) WS 5 ) wdﬂ S ) ong 5 TE) e 5

99) The toxic present in Tobacco
a) Nicotine  b) Alcohol ¢) Mercury d) None of these

30LIRPHT AR TP OIPRYT?
&) RERLS W) VBRI’ B) SIWRL B) CRFT ey

100) Which cell organelle is also called powerhouse of the cell
a) Mitochondria b) Ribosome ¢) Chloroplast d) neclus

BeDBRIT oIWT BRI, B, WURGT FT DOTR FTOTLY?
&) fnd&?msao@m ) 825&&'0333‘ ¥) BReinmgy @) ?)Ea.’é&‘bzf

FREPRFFIIINRENK
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